ASOTIN CONSERVATION DIST

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	1,800	0
Planted	1,600	4

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2024	01/2024	TUCANNON HATCHERY	1,800		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	575	400.0	1	JUVENILE	ASOTIN CO LAKES		
04/2024	04/2024	1,025	400.0	3	JUVENILE	GOLF COURSE PD (ASOT)		

Memo: Program implementation is dependent on legal authority and funding.

COLUMBIA HS (BURBANK

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	2,000	100
Planted	1,800	360

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2023	11/2023	COLUMBIA BASIN HATCHERY	2,000	20.0	100	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	1,800	5.0	360	JUVENILE	HOOD PARK PD (WALL)		

Memo: Program implementation is dependent on legal authority and funding.

COLUMBIA HS (BURBANK

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2024

Species: Rainbow

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	2,000	100
Planted	1,800	360

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2024	11/2024	COLUMBIA HS (BURBANK	2,000	20.0	100	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	1,800	5.0	360	JUVENILE	HOOD PARK PD (WALL)		

Memo: Program implementation is dependent on legal authority and funding.

COLVILLE HS(COLVILLE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	35,000	0
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	Pate End Date Facility Number		Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	SPOKANE HATCHERY	35,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Program implementation is dependent on legal authority and funding.

COLVILLE TRIBE

COLVILLE TRIBE

EASTERN WASHINGTON

Brood Year: 2023

Species: Kokanee

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	1,000,000	0
Planted	1,000,000	0

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2024	01/2024	LK WHATCOM HATCHERY	1,000,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
01/2024	01/2024	1,000,000		0	EGGS EYED	SANPOIL R 52.9001		

Memo:

COTTONWOOD CR POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Steelhead

Run:

WALLOWA R

Summer

Stock: **Brood Origin: HATCHERY**

Integrated/Segregated: **SEGREGATED**

	Total #	Total Pounds
Egg Take		
Shipping		
Received	226,000	37,667
Planted	225,000	49,999

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2024	02/2024	LYONS FERRY HATCHERY	226,000	6.0	37,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	17,200	4.5	3,822	JUVENILE	GRAND RONDE R35.2192	AD	✓
04/2024	04/2024	6,000	4.5	1,333	JUVENILE	GRAND RONDE R35.2192	AD+PT	\checkmark
04/2024	04/2024	201,800	4.5	44,844	JUVENILE	GRAND RONDE R35.2192	AD	

Memo: Program implementation is dependent on legal authority and funding.

COTTONWOOD CR POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2024

Species: Steelhead

Run: Summer

Stock: WALLOWA R
Brood Origin: HATCHERY

Integrated/Segregated: SEGREGATED

	Total #	Total Pounds
Egg Take	500,000	
Shipping	450,000	0
Received	226,000	37,667
Planted	225,000	49,999

Estimated Brood Data

Egg Take Goal 500,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2024	04/2024	LYONS FERRY HATCHERY	450,000		0	EGGS GREEN
Received	02/2025	02/2025	LYONS FERRY HATCHERY	226,000	6.0	37,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	17,200	4.5	3,822	JUVENILE	GRAND RONDE R35.2192	AD	✓
04/2025	04/2025	6,000	4.5	1,333	JUVENILE	GRAND RONDE R35.2192	AD+PT	✓
04/2025	04/2025	201,800	4.5	44,844	JUVENILE	GRAND RONDE R35.2192	AD	

Memo: Program implementation is dependent on legal authority and funding.

CURL LK ACCLIMA. PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Steelhead

Run: Summer

Stock: TUCANNON R 35.0009

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2024	04/2024	LYONS FERRY HATCHERY	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	42,500	4.5	9,444	JUVENILE	TUCANNON R 35.0009		✓
04/2024	04/2024	7,500	4.5	1,667	JUVENILE	TUCANNON R 35.0009	PT	\checkmark

Memo: Program implementation is dependent on legal authority and funding.

CURL LK ACCLIMA. PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2024

Species: Steelhead

Run: Summer

Stock: TUCANNON R 35.0009

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	50,000	11,111
Planted	50,000	11,111

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	LYONS FERRY HATCHERY	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	42,500	4.5	9,444	JUVENILE	TUCANNON R 35.0009		✓
04/2025	04/2025	7,500	4.5	1,667	JUVENILE	TUCANNON R 35.0009	PT	✓

Memo: Program implementation is dependent on legal authority and funding.

CURLEW LK NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	80,000	13,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2023	10/2023	80,000	6.0	13,333	JUVENILE	CURLEW LK (FERR)		

Memo: Program implementation is dependent on legal authority and funding.

CURLEW LK NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	85,000	1,700
Planted	80,000	13,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2024	05/2024	SPOKANE HATCHERY	85,000	50.0	1,700	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2024	10/2024	80,000	6.0	13,333	JUVENILE	CURLEW LK (FERR)		

Memo: Program implementation is dependent on legal authority and funding.

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Chinook

Run: Spring

Stock: WIND R 29.0023

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	251,000	17,929
Planted	250,000	20,833

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2024	02/2024	LYONS FERRY HATCHERY	251,000	14.0	17,929	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2024	03/2024	85,000	12.0	7,083	JUVENILE	TOUCHET R 32.0097	AD	✓
03/2024	03/2024	165,000	12.0	13,750	JUVENILE	TOUCHET R 32.0097	AD	

Memo: Program implementation is dependent on legal authority and funding.

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Chinook
Run: Spring

. .

Stock: WIND R 29.0023

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	251,000	17,929
Planted	250,000	20,833

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	LYONS FERRY HATCHERY	251,000	14.0	17,929	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	85,000	12.0	7,083	JUVENILE	TOUCHET R 32.0097	AD	✓
03/2025	03/2025	165,000	12.0	13,750	JUVENILE	TOUCHET R 32.0097	AD	

Memo: Program implementation is dependent on legal authority and funding.

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Chinook

Run:

Spring

Stock: TOUCHET R 32.0097

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	255,000	17,000
Planted	250,000	20,833

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	LYONS FERRY HATCHERY	255,000	15.0	17,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	165,000	12.0	13,750	JUVENILE	TOUCHET R 32.0097	AD	
03/2025	03/2025	85,000	12.0	7,083	JUVENILE	TOUCHET R 32.0097	AD	✓

Memo: Program implementation is dependent on legal authority and funding.

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Steelhead Run: Summer

Stock: TOUCHET R -ENDEMIC

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	50,000	11,111
Planted	50,000	11,111

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2024	04/2024	LYONS FERRY HATCHERY	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	45,000	4.5	10,000	JUVENILE	TOUCHET R 32.0097		✓
04/2024	04/2024	5,000	4.5	1,111	JUVENILE	TOUCHET R 32.0097	PT	✓

Memo: Program implementation is dependent on legal authority and funding.

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Steelhead

Run: Summer

Stock: WALLOWA R
Brood Origin: HATCHERY

Integrated/Segregated: SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	101,000	16,833
Planted	100,000	22,222

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2024	03/2024	LYONS FERRY HATCHERY	101,000	6.0	16,833	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	7,400	4.5	1,644	JUVENILE	TOUCHET R 32.0097	AD	✓
04/2024	04/2024	3,000	4.5	667	JUVENILE	TOUCHET R 32.0097	AD+PT	✓
04/2024	04/2024	89,600	4.5	19,911	JUVENILE	TOUCHET R 32.0097	AD	

Memo: Program implementation is dependent on legal authority and funding.

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2024

Species: Steelhead Run: Summer

Stock: TOUCHET R - ENDEMIC

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	50,000	11,111
Planted	50,000	11,111

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	LYONS FERRY HATCHERY	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	45,000	4.5	10,000	JUVENILE	TOUCHET R 32.0097		✓
04/2025	04/2025	5,000	4.5	1,111	JUVENILE	TOUCHET R 32.0097	PT	\checkmark

Memo: Program implementation is dependent on legal authority and funding.

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2024

Species: Steelhead

Run:

Stock: WALLOWA R

Summer

Brood Origin: HATCHERY

Integrated/Segregated: SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	101,000	16,833
Planted	100,000	22,222

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2025	03/2025	LYONS FERRY HATCHERY	101,000	6.0	16,833	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	7,400	4.5	1,644	JUVENILE	TOUCHET R 32.0097	AD	✓
04/2025	04/2025	3,000	4.5	667	JUVENILE	TOUCHET R 32.0097	AD+PT	\checkmark
04/2025	04/2025	89,600	4.5	19,911	JUVENILE	TOUCHET R 32.0097	AD	

Memo: Program implementation is dependent on legal authority and funding.

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2022

Species: Eastern Brook Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	15,000	750
Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2023	10/2023	SPOKANE HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	14,500	5.0	2,900	JUVENILE	DEER LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding. Ken Santora Net Pen site.

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	15,000	750
Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2023	10/2023	SPOKANE HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	14,500	5.0	2,900	JUVENILE	DEER LK (STEV)		

Memo: Program implementation is dependant on legal authority and funding. Deer Lake Net Pen site.

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Eastern Brook Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	15,000	750
Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2024	10/2024	SPOKANE HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	14,500	5.0	2,900	JUVENILE	DEER LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding. Ken Santora Net Pen site.

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	15,000	750
Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2024	10/2024	SPOKANE HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	14,500	5.0	2,900	JUVENILE	DEER LK (STEV)		

Memo: Program implementation is dependant on legal authority and funding. Deer Lake Net Pen site.

DIAMOND LK NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	15,000	750
Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2023	10/2023	FORD HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	14,500	5.0	2,900	JUVENILE	DIAMOND LK (PEND)		

Memo: Program implementation is dependent on legal authority and funding. Triploids.

DIAMOND LK NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	15,000	750
Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2024	10/2024	FORD HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	14,500	5.0	2,900	JUVENILE	DIAMOND LK (PEND)		

Memo: Program implementation is dependent on legal authority and funding. Triploids.

EAST VALLEY MS(SPOKA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	250	0
Planted	225	2

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	225	100.0	2	JUVENILE	LIBERTY LK (SPOK) (57)		

Memo: Program implementation is dependent on legal authority and funding.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2020

Species: Brown Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	2,000	4,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2023	12/2023	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2023	12/2023	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2021

Species: Brown Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	2,000	4,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2024	12/2024	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2024	12/2024	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2021

Species: Eastern Brook Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	2,000	2,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2023	12/2023	500	1.0	500	BROODSTOCK	PEND OREILLE CO LAKES		
10/2023	12/2023	1,500	1.0	1,500	BROODSTOCK	SPOKANE CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Goldendale and Chelan Transfers are Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Brown Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	2,100	420
Planted	2,000	4,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2024	04/2024	SPOKANE HATCHERY	2,100	5.0	420	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	12/2025	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2025	12/2025	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Eastern Brook Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	2,100	28
Planted	2,000	2,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2023	06/2023	SPOKANE HATCHERY	2,100	75.0	28	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2024	12/2024	500	1.0	500	BROODSTOCK	PEND OREILLE CO LAKES		
10/2024	12/2024	1,500	1.0	1,500	BROODSTOCK	SPOKANE CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Goldendale and Chelan Transfers are Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	15,000	750
Received		
Planted	432,800	64,200

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2023	10/2023	DIAMOND LK NP	15,000	20.0	750	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. 165,000 are triploids. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	15,000	750
Received		
Planted	432,800	64,200

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2023	10/2023	200,000	20.0	10,000	JUVENILE	BANKS LK (GRAN)		
10/2023	10/2023	20,000	20.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
03/2024	04/2024	42,000	4.0	10,500	JUVENILE	LINCOLN CO LAKES		
03/2024	04/2024	44,000	4.0	11,000	JUVENILE	PEND OREILLE CO LAKES		
03/2024	04/2024	48,000	4.0	12,000	JUVENILE	SPOKANE CO LAKES		
03/2024	04/2024	52,000	4.0	13,000	JUVENILE	STEVENS CO LAKES		
03/2024	04/2024	24,000	4.0	6,000	JUVENILE	WHITMAN CO LAKES		
04/2024	05/2024	2,800	4.0	700	JUVENILE	FERRY CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. 165,000 are triploids. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Brown Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	725,000	
Shipping	568,500	0
Received	2,100	420
Planted	2,000	4,000

Estimated Brood Data

Egg Take Goal 725,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2023	11/2023	MOSSYROCK HATCHERY	17,500		0	EGGS EYED
Shipped	12/2023	12/2023	CHELAN HATCHERY	50,000		0	EGGS EYED
Shipped	12/2023	12/2023	GOLDENDALE HATCHERY	12,000		0	EGGS EYED
Shipped	12/2023	12/2023	KENDALL CR HATCHERY	64,000		0	EGGS EYED
Shipped	12/2023	12/2023	SPOKANE HATCHERY	425,000		0	EGGS EYED
Received	04/2025	04/2025	SPOKANE HATCHERY	2,100	5.0	420	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	12/2026	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2026	12/2026	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Eastern Brook Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	400,000	
Shipping	210,500	0
Received	2,100	28
Planted	2,000	2,000

Estimated Brood Data

Egg Take Goal 400,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2023	12/2023	CHELAN HATCHERY	100,000		0	EGGS EYED
Shipped	12/2023	12/2023	GOLDENDALE HATCHERY	25,000		0	EGGS EYED
Shipped	12/2023	12/2023	SPOKANE HATCHERY	85,000		0	EGGS EYED
Shipped	12/2023	12/2023	WEST VALLEY HS(SPOKA	500		0	EGGS EYED
Received	06/2024	06/2024	SPOKANE HATCHERY	2,100	75.0	28	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage Release Si	te Mark Type	Tagged
10/2025	12/2025	500	1.0	500	BROODSTOCK PEND OR	EILLE CO LAKES	
10/2025	12/2025	1,500	1.0	1,500	BROODSTOCK SPOKANE	E CO LAKES	

Memo: Program implementation is dependent on legal authority and funding. Goldendale and Chelan Transfers are Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds		
Egg Take				
Shipping	215,000	4,083		
Received	1,550,000	0		
Planted	917,800	69,050		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	SPOKANE HATCHERY	1,550,000		0	EGGS EYED
Shipped	06/2024	06/2024	SHERMAN CR HATCHERY	200,000	60.0	3,333	JUVENILE
Shipped	10/2024	10/2024	DIAMOND LK NP	15,000	20.0	750	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. 165,000 are triploids. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023 Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	215,000	4,083
Received	1,550,000	0
Planted	917,800	69,050

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	45,000	100.0	450	JUVENILE	FERRY CO LAKES		
05/2024	05/2024	40,000	100.0	400	JUVENILE	PEND OREILLE CO LAKES		
05/2024	05/2024	185,000	100.0	1,850	JUVENILE	SPOKANE CO LAKES		
05/2024	05/2024	215,000	100.0	2,150	JUVENILE	STEVENS CO LAKES		
10/2024	10/2024	200,000	20.0	10,000	JUVENILE	BANKS LK (GRAN)	AD	
10/2024	10/2024	20,000	20.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
03/2025	04/2025	42,000	4.0	10,500	JUVENILE	LINCOLN CO LAKES		
03/2025	04/2025	44,000	4.0	11,000	JUVENILE	PEND OREILLE CO LAKES		
03/2025	04/2025	48,000	4.0	12,000	JUVENILE	SPOKANE CO LAKES		
03/2025	04/2025	52,000	4.0	13,000	JUVENILE	STEVENS CO LAKES		
03/2025	04/2025	24,000	4.0	6,000	JUVENILE	WHITMAN CO LAKES		
04/2025	05/2025	2,800	4.0	700	JUVENILE	FERRY CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. 165,000 are triploids. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Tiger Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Tak	e 1,000,000	
Shipping	g 170,500	1,217
Receive	d	
Planted	20,000	200

Estimated Brood Data

Egg Take Goal 1,000,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2023	11/2023	GOLDENDALE HATCHERY	20,000		0	EGGS EYED
Shipped	11/2023	11/2023	WEST VALLEY HS(SPOKA	500		0	EGGS EYED
Shipped	12/2023	12/2023	CHELAN HATCHERY	50,000		0	EGGS EYED
Shipped	05/2024	05/2024	COLUMBIA BASIN HATCHERY	25,000	100.0	250	JUVENILE
Shipped	06/2024	06/2024	OMAK HATCHERY	10,000	100.0	100	JUVENILE
Shipped	06/2024	06/2024	SPOKANE HATCHERY	65,000	75.0	867	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	1,500	100.0	15	JUVENILE	PEND OREILLE CO LAKES		
05/2024	05/2024	18,500	100.0	185	JUVENILE	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Even years only for Goldendale.

FORT COLVILLE ES

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	500	0
Planted	475	2

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	SPOKANE HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	475	250.0	2	JUVENILE	HATCH LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding.

LEONARD M JENNINGS E

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	250	0
Planted	250	1

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2024	01/2024	TUCANNON HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	250	400.0	1	JUVENILE	ROCK LK (WHIT)		

Memo: Program implementation is dependent on legal authority and funding.

LINCOLN MS(PULLMAN)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	250	0
Planted	250	3

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2023	05/2023	250	100.0	3	JUVENILE	GILCREST PD (WHIT)		

Memo: Program implementation is dependent on legal authority and funding.

LK ROOSEVELT NP (COL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: TROUT LODGE
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	510,000	34,000
Planted	500,000	83,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2023	10/2023	SHERMAN CR HATCHERY	60,000	15.0	4,000	JUVENILE
Received	10/2023	10/2023	SPOKANE TRIBAL HATCHERY	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	500,000	6.0	83,333	JUVENILE	ROOSEVELT LK (OKAN)	AD	

Memo: Program implementation is dependent on legal authority and funding.

LK ROOSEVELT NP (COL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: TROUT LODGE
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	510,000	34,000
Planted	500,000	83,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2024	10/2024	SHERMAN CR HATCHERY	60,000	15.0	4,000	JUVENILE
Received	10/2024	10/2024	SPOKANE TRIBAL HATCHERY	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	500,000	6.0	83,333	JUVENILE	ROOSEVELT LK (OKAN)	AD	

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Chinook

Run: Fall

Stock: SNAKE R-LOWR 33.0002

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	450,000	45,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	450,000	10.0	45,000	JUVENILE	LYONS FERRY REL.SITE	AD	✓

Memo: Program implementation is dependent on legal authority and funding. PIT tagged release rates will be determined annually.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Chinook

Run: Spring

Stock: TUCANNON R 35.0009

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	226,000	15,067
Received		
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2023	11/2023	TUCANNON HATCHERY	226,000	15.0	15,067	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	19,250	7,517
Received		
Planted	107,500	41,914

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2023	10/2023	IDAHO -FISH & GAME	17,600	3.0	5,867	JUVENILE
Shipped	03/2024	05/2024	NEZ PERCE TRIBAL FAC	1,650	1.0	1,650	JUVENILE

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	19,250	7,517
Received		
Planted	107,500	41,914

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2023	10/2023	3,000	3.0	1,000	JUVENILE	COLUMBIA CO LAKES		
10/2023	10/2023	2,500	3.0	833	JUVENILE	WALLA WALLA CO LAKES	UM	
10/2023	10/2023	27,000	3.0	9,000	JUVENILE	WHITMAN CO LAKES		
02/2024	03/2024	15,000	2.5	6,000	JUVENILE	ASOTIN CO LAKES		
02/2024	03/2024	100	0.7	143	JUVENILE	ASOTIN CO LAKES		
02/2024	03/2024	150	0.7	224	JUVENILE	COLUMBIA CO LAKES		
02/2024	03/2024	24,500	2.5	9,800	JUVENILE	COLUMBIA CO LAKES		
02/2024	03/2024	100	0.7	143	JUVENILE	FRANKLIN CO LAKES		
02/2024	03/2024	11,500	2.5	4,600	JUVENILE	FRANKLIN CO LAKES		
02/2024	03/2024	18,000	2.5	7,200	JUVENILE	WALLA WALLA CO LAKES		
02/2024	03/2024	525	0.7	784	JUVENILE	WALLA WALLA CO LAKES		
02/2024	03/2024	125	0.7	187	JUVENILE	WHITMAN CO LAKES		
02/2024	03/2024	5,000	2.5	2,000	JUVENILE	WHITMAN CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023 Species: Chinook

Run: Fall

Stock: SNAKE R-LOWR 33.0002

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take	4,555,000	
Shipping	3,256,000	25,413
Received		
Planted	1,150,000	59,000

Estimated Brood Data

Egg Take Goal 4,555,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2023	12/2023	OREGON- IRRIGON HATCHERY	1,350,000		0	EGGS EYED
Shipped	04/2024	05/2024	NEZ PERCE TRIBAL FAC	451,000	75.0	6,013	JUVENILE
Shipped	04/2024	05/2024	NEZ PERCE TRIBAL FAC	451,000	75.0	6,013	JUVENILE
Shipped	04/2024	05/2024	NEZ PERCE TRIBAL FAC	401,000	75.0	5,347	JUVENILE
Shipped	05/2024	05/2024	NEZ PERCE TRIBAL FAC	201,000	75.0	2,680	JUVENILE
Shipped	05/2024	05/2024	NEZ PERCE TRIBAL FAC	201,000	75.0	2,680	JUVENILE
Shipped	05/2024	05/2024	NEZ PERCE TRIBAL FAC	201,000	75.0	2,680	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. PIT tagged release rates will be determined annually.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Chinook

Run: Fall

Stock: SNAKE R-LOWR 33.0002

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take	4,555,000	
Shipping	3,256,000	25,413
Received		
Planted	1,150,000	59,000

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	06/2024	200,000	50.0	4,000	JUVENILE	LYONS FERRY REL.SITE	AD	✓
05/2024	06/2024	500,000	50.0	10,000	JUVENILE	LYONS FERRY REL.SITE		
03/2025	04/2025	450,000	10.0	45,000	JUVENILE	LYONS FERRY REL.SITE	AD	✓

Memo: Program implementation is dependent on legal authority and funding. PIT tagged release rates will be determined annually.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Chinook

Run: Spring

Stock: WIND R 29.0023

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	258,300	21,250
Received	270,000	0
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility		Number	FPP	Total Pounds	Life Stage
Received	10/2023	10/2023	CARSON NFH		270,000		0	EGGS GREEN
Shipped	10/2023	10/2023	TRI STATE STEELHEAD	DER	3,300		0	EGGS EYED
Shipped	02/2025	02/2025	DAYTON ACCLIMA. PO	ND	255,000	12.0	21,250	JUVENILE
Estimated Release	e Data							
Start Date End Dat	te Num Re	lease	FPP Total Pounds	Life Stage	Release Site		Mark [*]	Type Tagged

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Chinook
Run: Spring

Run: Spring

Stock: TOUCHET R 32.0097

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take	300,000	
Shipping	255,000	17,000
Received		
Planted		

Estimated Brood Data

Egg Take Goal 300,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2025	02/2025	DAYTON ACCLIMA. POND	255,000	15.0	17,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Chinook

Run:

Spring

Stock: TUCANNON R 35.0009

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take	245,000	
Shipping	226,000	15,067
Received		
Planted		

Estimated Brood Data

Egg Take Goal 245,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2024	11/2024	TUCANNON HATCHERY	226,000	15.0	15,067	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	19,250	7,517
Received	195,000	0
Planted	107,500	41,886

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	SPOKANE HATCHERY	195,000		0	EGGS EYED
Shipped	09/2024	10/2024	IDAHO -FISH & GAME	17,600	3.0	5,867	JUVENILE
Shipped	03/2025	05/2025	NEZ PERCE TRIBAL FAC	1,650	1.0	1,650	JUVENILE

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023 Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	19,250	7,517
Received	195,000	0
Planted	107,500	41,886

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2024	10/2024	3,000	3.0	1,000	JUVENILE	COLUMBIA CO LAKES		
10/2024	10/2024	2,500	3.0	833	JUVENILE	WALLA WALLA CO LAKES	UM	
10/2024	10/2024	27,000	3.0	9,000	JUVENILE	WHITMAN CO LAKES		
02/2025	03/2025	15,000	2.5	6,000	JUVENILE	ASOTIN CO LAKES		
02/2025	03/2025	100	0.7	143	JUVENILE	ASOTIN CO LAKES		
02/2025	03/2025	150	0.7	224	JUVENILE	COLUMBIA CO LAKES		
02/2025	03/2025	24,500	2.5	9,800	JUVENILE	COLUMBIA CO LAKES		
02/2025	03/2025	100	0.7	149	JUVENILE	FRANKLIN CO LAKES		
02/2025	03/2025	11,500	2.5	4,600	JUVENILE	FRANKLIN CO LAKES		
02/2025	03/2025	18,000	2.5	7,200	JUVENILE	WALLA WALLA CO LAKES		
02/2025	03/2025	525	0.7	750	JUVENILE	WALLA WALLA CO LAKES		
02/2025	03/2025	125	0.7	187	JUVENILE	WHITMAN CO LAKES		
02/2025	03/2025	5,000	2.5	2,000	JUVENILE	WHITMAN CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Steelhead Run: Summer

Stock: TOUCHET R - ENDEMIC

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	50,000	11,111
Received		
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2024	04/2024	DAYTON ACCLIMA. POND	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Steelhead

Run: Summer

Stock: TUCANNON R 35.0009

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds	
Egg Take	185,000		
Shipping	50,000	11,111	
Received			
Planted	100,000	22,223	

Estimated Brood Data

Egg Take Goal 185,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2024	04/2024	CURL LK ACCLIMA. PD	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2024	04/2024	7,500	4.5	1,667	JUVENILE	TUCANNON R 35.0009	AD+PT	✓
03/2024	04/2024	17,500	4.5	3,889	JUVENILE	TUCANNON R 35.0009	AD	\checkmark
03/2024	04/2024	75,000	4.5	16,667	JUVENILE	TUCANNON R 35.0009	AD	

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Steelhead

Stock: WALLOWA R

Summer

Brood Origin: HATCHERY

Integrated/Segregated: SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	327,000	54,500
Received		
Planted	60,000	13,334

Estimated Brood Data

Egg Take Goal

Run:

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2024	02/2024	COTTONWOOD CR POND	226,000	6.0	37,667	JUVENILE
Shipped	03/2024	03/2024	DAYTON ACCLIMA. POND	101,000	6.0	16,833	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2024	03/2024	3,000	4.5	667	JUVENILE	LYONS FERRY REL.SITE	AD+PT	✓
03/2024	03/2024	53,600	4.5	11,911	JUVENILE	LYONS FERRY REL.SITE	AD	
03/2024	03/2024	3,400	4.5	756	JUVENILE	LYONS FERRY REL.SITE	AD	\checkmark

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2024

Species: Steelhead
Run: Summer

Stock: TOUCHET R - ENDEMIC

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take	60,000	
Shipping	50,000	11,111
Received		
Planted		

Estimated Brood Data

Egg Take Goal 60,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2025	04/2025	DAYTON ACCLIMA. POND	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	---------------------	------------	--------------	-----------	--------

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2024

Species: Steelhead

Run: Summer

Stock: TUCANNON R 35.0009

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take	185,000	
Shipping	50,000	11,111
Received		
Planted	100,000	22,223

Estimated Brood Data

Egg Take Goal 185,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2025	04/2025	CURL LK ACCLIMA. PD	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2025	04/2025	7,500	4.5	1,667	JUVENILE	TUCANNON R 35.0009	AD+PT	✓
03/2025	04/2025	17,500	4.5	3,889	JUVENILE	TUCANNON R 35.0009	AD	\checkmark
03/2025	04/2025	75,000	4.5	16,667	JUVENILE	TUCANNON R 35.0009	AD	

Memo: Program implementation is dependent on legal authority and funding.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2024

Species: Steelhead

Run: Summer

Stock: WALLOWA R
Brood Origin: HATCHERY

Integrated/Segregated: SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	327,000	54,500
Received	450,000	0
Planted	60,000	13,334

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2024	04/2024	COTTONWOOD CR POND	450,000		0	EGGS GREEN
Shipped	02/2025	02/2025	COTTONWOOD CR POND	226,000	6.0	37,667	JUVENILE
Shipped	03/2025	03/2025	DAYTON ACCLIMA. POND	101,000	6.0	16,833	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	3,000	4.5	667	JUVENILE	LYONS FERRY REL.SITE	AD+PT	✓
03/2025	03/2025	53,600	4.5	11,911	JUVENILE	LYONS FERRY REL.SITE	AD	
03/2025	03/2025	3,400	4.5	756	JUVENILE	LYONS FERRY REL.SITE	AD	✓

Memo: Program implementation is dependent on legal authority and funding.

NORTHPORT SD 211

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	250	0
Planted	200	1

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	200	250.0	1	JUVENILE	CEDAR LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding.

ORIENT SD 065(ORIENT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	250	0
Planted	225	2

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	225	100.0	2	JUVENILE	PIERRE LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding. Every three years.

PALOUSE ES HS(PALOUS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	500	0
Planted	475	5

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	SPOKANE HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	475	100.0	5	JUVENILE	PALOUSE R 34.0003		

Memo: Program implementation is dependent on legal authority and funding.

RFEG 12 EASTERN WASH.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Chinook

Run: Fall

Stock: PRIEST RAPIDS (36)

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	500	0
Planted	500	1

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2024	01/2024	PRIEST RAPIDS HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	500	500.0	1	JUVENILE	YAKIMA R-LOW 37.0002		

Memo: Program implementation is dependent on legal authority and funding.

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: TROUT LODGE
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	95,000	15,833

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	06/2024	95,000	6.0	15,833	JUVENILE	ROOSEVELT LK (OKAN)		

Memo: Program implementation is dependent on legal authority and funding.

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	60,000	4,000
Received		
Planted	225,000	37,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2023	10/2023	LK ROOSEVELT NP (COL	60,000	15.0	4,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	06/2024	225,000	6.0	37,500	JUVENILE	ROOSEVELT LK (OKAN)	AD	

Memo: Program implementation is dependent on legal authority and funding. Triploids. May backfill with Trout Lodge stock.

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: TROUT LODGE
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	100,000	1,667
Planted	95,000	15,833

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2024	06/2024	SPOKANE TRIBAL HATCHERY	100,000	60.0	1,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	95,000	6.0	15,833	JUVENILE	ROOSEVELT LK (OKAN)	AD	

Memo: Program implementation is dependent on legal authority and funding.

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	60,000	4,000
Received	200,000	3,333
Planted	125,000	20,833

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2024	06/2024	FORD HATCHERY	200,000	60.0	3,333	JUVENILE
Shipped	10/2024	10/2024	LK ROOSEVELT NP (COL	60,000	15.0	4,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	125,000	6.0	20,833	JUVENILE	ROOSEVELT LK (OKAN)	AD	

Memo: Program implementation is dependent on legal authority and funding. Triploids. May backfill with Trout Lodge stock.

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Sturgeon White

Run: NA

Stock: LK ROOSEVELT (53)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	10,000	0
Planted	4,000	8,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	07/2023	07/2023	LK ROOSEVELT (53)	10,000		0	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2024	03/2024	4,000	0.5	8,000	JUVENILE	LK ROOSEVELT (53)	PT	

Memo: Program implementation is dependent on legal authority and funding. Larva received from Lk Roosevelt.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2020

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	6,000	20,001

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2024	03/2024	1,500	0.3	5,000	BROODSTOCK	LINCOLN CO LAKES		
03/2024	03/2024	500	0.3	1,667	BROODSTOCK	PEND OREILLE CO LAKES		
03/2024	03/2024	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2024	03/2024	2,000	0.3	6,667	BROODSTOCK	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. CBH egg transfer between 1/15 to 1/31. Ford 700k dips/850k trips. Lyons Ferry 130k dips/65k trips

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2021

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	6,000	20,001

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	1,500	0.3	5,000	BROODSTOCK	LINCOLN CO LAKES		
03/2025	03/2025	500	0.3	1,667	BROODSTOCK	PEND OREILLE CO LAKES		
03/2025	03/2025	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2025	03/2025	2,000	0.3	6,667	BROODSTOCK	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. CBH egg transfer between 1/15 to 1/31. Ford 700k dips/850k trips. Lyons Ferry 130k dips/65k trips

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Brown Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds			
Egg Take					
Shipping	26,600	1,645			
Received					
Planted	291,000	24,150			

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2023	10/2023	WAITTS LK NET PENS	24,500	20.0	1,225	JUVENILE
Shipped	04/2024	04/2024	FORD HATCHERY	2,100	5.0	420	JUVENILE

Memo: Program implementation is dependent on legal authority and funding.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Brown Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	26,600	1,645
Received		
Planted	291,000	24,150

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2023	10/2023	186,000	20.0	9,300	JUVENILE	SPOKANE CO LAKES		
10/2023	10/2023	6,000	20.0	300	JUVENILE	STEVENS CO LAKES		
10/2023	10/2023	35,000	20.0	1,750	JUVENILE	WHITMAN CO LAKES		
03/2024	04/2024	1,000	5.0	200	JUVENILE	LINCOLN CO LAKES		
03/2024	04/2024	14,000	5.0	2,800	JUVENILE	PEND OREILLE CO LAKES		
03/2024	04/2024	24,000	5.0	4,800	JUVENILE	SPOKANE CO LAKES		
03/2024	04/2024	10,000	5.0	2,000	JUVENILE	STEVENS CO LAKES		
03/2024	04/2024	15,000	5.0	3,000	JUVENILE	WHITMAN CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Eastern Brook Trout

Run: NA

Stock:FORD STOCKBrood Origin:HATCHERYIntegrated/Segregated:SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	17,100	778
Received		
Planted	42,000	420

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	06/2023	06/2023	FORD HATCHERY	2,100	75.0	28	JUVENILE
Shipped	10/2023	10/2023	DEER LK NET PENS	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2023	05/2023	20,000	100.0	200	JUVENILE	SPOKANE CO LAKES		
06/2023	06/2023	3,500	100.0	35	JUVENILE	FERRY CO LAKES		
06/2023	06/2023	12,000	100.0	120	JUVENILE	PEND OREILLE CO LAKES		
06/2023	06/2023	6,500	100.0	65	JUVENILE	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Eastern Brook Trout

Run: NA

Stock: IDAHO- GENERAL STOCK

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	18,000	900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2023	10/2023	18,000	20.0	900	JUVENILE	PEND OREILLE 62.0002		

Memo: Program implementation is dependent on legal authority and funding. YY Eastern Brook Trout. If necessary, transfer 6,000 fish at 20 fpp to Omak Hatchery.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	30,000	1,500
Received		
Planted	319,680	66,173

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2023	10/2023	WAITTS LK NET PENS	30,000	20.0	1,500	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. CBH egg transfer between 1/15 to 1/31. Ford 700k dips/850k trips. Lyons Ferry 130k dips/65k trips

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022 Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total Pounds		
Egg Take			
Shipping	30,000	1,500	
Received			
Planted	319,680	66,173	

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2023	10/2023	10,000	10.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
10/2023	10/2023	59,000	10.0	5,900	JUVENILE	SPOKANE CO LAKES		
10/2023	10/2023	20,000	10.0	2,000	JUVENILE	WHITMAN CO LAKES		
10/2023	10/2023	20,000	20.0	1,000	JUVENILE	WHITMAN CO LAKES		
10/2023	11/2023	96,000	20.0	4,800	JUVENILE	FERRY CO LAKES		
10/2023	11/2023	40,000	10.0	4,000	JUVENILE	FERRY CO LAKES		
03/2024	04/2024	52,000	2.5	20,800	JUVENILE	SPOKANE CO LAKES		
03/2024	04/2024	16,680	2.5	6,672	JUVENILE	STEVENS CO LAKES		
03/2026	03/2026	1,500	0.3	5,000	BROODSTOCK	LINCOLN CO LAKES		
03/2026	03/2026	500	0.3	1,667	BROODSTOCK	PEND OREILLE CO LAKES		
03/2026	03/2026	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2026	03/2026	2,000	0.3	6,667	BROODSTOCK	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. CBH egg transfer between 1/15 to 1/31. Ford 700k dips/850k trips. Lyons Ferry 130k dips/65k trips

Monday, July 17, 2023

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Tiger Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	56,000	2,800

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2023	10/2023	6,000	20.0	300	JUVENILE	PEND OREILLE CO LAKES		
10/2023	10/2023	40,000	20.0	2,000	JUVENILE	SPOKANE CO LAKES		
10/2023	10/2023	10,000	20.0	500	JUVENILE	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Brown Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	51,600	1,895
Received	425,000	0
Planted	290,000	24,100

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	FORD HATCHERY	425,000		0	EGGS EYED
Shipped	05/2024	05/2024	COLUMBIA BASIN HATCHERY	25,000	100.0	250	JUVENILE
Shipped	10/2024	10/2024	WAITTS LK NET PENS	24,500	20.0	1,225	JUVENILE
Shipped	04/2025	04/2025	FORD HATCHERY	2,100	5.0	420	JUVENILE

Memo: Program implementation is dependent on legal authority and funding.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Brown Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	51,600	1,895
Received	425,000	0
Planted	290,000	24,100

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2024	10/2024	186,000	20.0	9,300	JUVENILE	SPOKANE CO LAKES		
10/2024	10/2024	5,000	20.0	250	JUVENILE	STEVENS CO LAKES		
10/2024	10/2024	35,000	20.0	1,750	JUVENILE	WHITMAN CO LAKES		
03/2025	04/2025	1,000	5.0	200	JUVENILE	LINCOLN CO LAKES		
03/2025	04/2025	14,000	5.0	2,800	JUVENILE	PEND OREILLE CO LAKES		
03/2025	04/2025	24,000	5.0	4,800	JUVENILE	SPOKANE CO LAKES		
03/2025	04/2025	10,000	5.0	2,000	JUVENILE	STEVENS CO LAKES		
03/2025	04/2025	15,000	5.0	3,000	JUVENILE	WHITMAN CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Cutthroat

Run: Westslope
Stock: KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	300,000	
Shipping	15,000	0
Received		
Planted	197,000	5,250

Estimated Brood Data

Egg Take Goal 300,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	05/2023	05/2023	NACHES HATCHERY	15,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2023	10/2023	15,000	250.0	60	JUVENILE	FERRY CO LAKES		
10/2023	10/2023	70,000	250.0	280	JUVENILE	PEND OREILLE CO LAKES		
10/2023	10/2023	15,000	250.0	60	JUVENILE	STEVENS CO LAKES		
05/2024	06/2024	62,000	20.0	3,100	JUVENILE	SPOKANE CO LAKES		
05/2024	06/2024	35,000	20.0	1,750	JUVENILE	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Eastern Brook Trout

Run: NA

Stock:FORD STOCKBrood Origin:HATCHERYIntegrated/Segregated:SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	17,100	778
Received	85,000	0
Planted	42,000	420

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	FORD HATCHERY	85,000		0	EGGS EYED
Shipped	06/2024	06/2024	FORD HATCHERY	2,100	75.0	28	JUVENILE
Shipped	10/2024	10/2024	DEER LK NET PENS	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	20,000	100.0	200	JUVENILE	SPOKANE CO LAKES		
06/2024	06/2024	3,500	100.0	35	JUVENILE	FERRY CO LAKES		
06/2024	06/2024	12,000	100.0	120	JUVENILE	PEND OREILLE CO LAKES		
06/2024	06/2024	6,500	100.0	65	JUVENILE	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Eastern Brook Trout

Run: NA

Stock: IDAHO- GENERAL STOCK

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	100,000	0
Planted	18,000	900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2023	11/2023	IDAHO -FISH & GAME	100,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2024	10/2024	18,000	20.0	900	JUVENILE	PEND OREILLE CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. YY Eastern Brook Trout. If necessary, transfer 6,000 fish at 20 fpp to Omak Hatchery.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Kokanee

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	500	0
Received	475,000	0
Planted	410,500	2,636

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2024	01/2024	LK WHATCOM HATCHERY	475,000		0	EGGS EYED
Shipped	01/2024	01/2024	WEST VALLEY HS(SPOKA	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	147,000	200.0	735	JUVENILE	BILLY CLAPP LK (GRAN)		
05/2024	05/2024	13,500	200.0	68	JUVENILE	DEEP LK (GRAN)		
05/2024	05/2024	100,000	200.0	500	JUVENILE	SPOKANE CO LAKES		
05/2024	05/2024	100,000	200.0	500	JUVENILE	STEVENS CO LAKES		
10/2024	10/2024	50,000	60.0	833	JUVENILE	PEND OREILLE CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. May backfill with Palmer Lk Stock from Omak if needed.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: TROUT LODGE
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	50,000	10,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2024	06/2024	50,000	5.0	10,000	JUVENILE	SPOKANE CO LAKES	AD	

Memo: Program implementation is dependent on legal authority and funding. AVISTA mitigation.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023 Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	6,200,000	
Shipping	3,417,600	3,200
Received		
Planted	884,680	71,823

Estimated Brood Data

Egg Take Goal 6,200,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2023	12/2023	CHELAN HATCHERY	655,000		0	EGGS EYED
Shipped	12/2023	12/2023	CHELAN PUD HATCHERY	100,000		0	EGGS EYED
Shipped	12/2023	12/2023	COLVILLE HS(COLVILLE	35,000		0	EGGS EYED
Shipped	12/2023	12/2023	EAST VALLEY MS(SPOKA	250		0	EGGS EYED
Shipped	12/2023	12/2023	FORD HATCHERY	1,550,000		0	EGGS EYED
Shipped	12/2023	12/2023	FORT COLVILLE ES	500		0	EGGS EYED
Shipped	12/2023	12/2023	LINCOLN MS(PULLMAN)	250		0	EGGS EYED
Shipped	12/2023	12/2023	LYONS FERRY HATCHERY	195,000		0	EGGS EYED
Shipped	12/2023	12/2023	MESEBERG HATCHERY	115,000		0	EGGS EYED
Shipped	12/2023	12/2023	NORTHPORT SD 211	250		0	EGGS EYED
Shipped	12/2023	12/2023	ORIENT SD 065(ORIENT	250		0	EGGS EYED

Memo: Program implementation is dependent on legal authority and funding. CBH egg transfer between 1/15 to 1/31. Ford 700k dips/850k trips. Lyons Ferry 130k dips/65k trips

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2023					Total #	Total Pounds
Species:	Rainbo	ow .			Faa Tako	6 200 000	
Run:	NA				Egg Take	6,200,000	
Stock:	SPOKA	NE HATCHERY			Shipping	3,417,600	3,200
Brood Origin:	HATCH	IERY			Received		
Integrated/Segreg	gated:				Planted	884,680	71,823
Shipped	12/2023	12/2023	PALOUSE ES HS(PALOUS	500		0	EGGS EYED
Shipped	12/2023	12/2023	STACEY SELCHO COOP	4,100		0	EGGS EYED
Shipped	12/2023	12/2023	WEST VALLEY HS(SPOKA	500		0	EGGS EYED
Shipped	12/2023	01/2024	TUCANNON HATCHERY	130,000		0	EGGS EYED
Shipped	01/2024	01/2024	COLUMBIA BASIN HATCHERY	450,000		0	EGGS EYED
Shipped	01/2024	01/2024	OMAK HATCHERY	66,000		0	EGGS EYED
Shipped	05/2024	05/2024	CURLEW LK NET PEN	85,000	50.0	1,700	JUVENILE
Shipped	10/2024	10/2024	WAITTS LK NET PENS	30,000	20.0	1,500	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. CBH egg transfer between 1/15 to 1/31. Ford 700k dips/850k trips. Lyons Ferry 130k dips/65k trips

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023
Species: Rainbow
Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds	
Egg Take	6,200,000		
Shipping	3,417,600	3,200	
Received			
Planted	884,680	71,823	

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	300,000	100.0	3,000	JUVENILE	LINCOLN CO LAKES		
05/2024	05/2024	165,000	100.0	1,650	JUVENILE	SPOKANE CO LAKES		
05/2024	05/2024	100,000	100.0	1,000	JUVENILE	WHITMAN CO LAKES		
10/2024	10/2024	10,000	10.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
10/2024	10/2024	59,000	10.0	5,900	JUVENILE	SPOKANE CO LAKES		
10/2024	10/2024	20,000	10.0	2,000	JUVENILE	WHITMAN CO LAKES		
0/2024	10/2024	20,000	20.0	1,000	JUVENILE	WHITMAN CO LAKES		
0/2024	11/2024	96,000	20.0	4,800	JUVENILE	FERRY CO LAKES		
0/2024	11/2024	40,000	10.0	4,000	JUVENILE	FERRY CO LAKES		
03/2025	04/2025	52,000	2.5	20,800	JUVENILE	SPOKANE CO LAKES		
03/2025	04/2025	16,680	2.5	6,672	JUVENILE	STEVENS CO LAKES		
03/2027	03/2027	1,500	0.3	5,000	BROODSTOCK	LINCOLN CO LAKES		
03/2027	03/2027	500	0.3	1,667	BROODSTOCK	PEND OREILLE CO LAKES		
03/2027	03/2027	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
		*		•				

Memo: Program implementation is dependent on legal authority and funding. CBH egg transfer between 1/15 to 1/31. Ford 700k dips/850k trips. Lyons Ferry 130k dips/65k trips

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Total #

6,200,000

3,417,600

884,680

Egg Take

Shipping

Received

Planted

Total Pounds

3,200

71,823

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

03/2027 03/2027 **2,000** 0.3 **6,667** BROODSTOCK STEVENS CO LAKES

Memo: Program implementation is dependent on legal authority and funding. CBH egg transfer between 1/15 to 1/31. Ford 700k dips/850k trips. Lyons Ferry 130k dips/65k trips

Monday, July 17, 2023

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Tiger Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	65,000	867
Planted	56,000	2,800

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2024	06/2024	FORD HATCHERY	65,000	75.0	867	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2024	10/2024	6,000	20.0	300	JUVENILE	PEND OREILLE CO LAKES		
10/2024	10/2024	40,000	20.0	2,000	JUVENILE	SPOKANE CO LAKES		
10/2024	10/2024	10,000	20.0	500	JUVENILE	STEVENS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2024

Species: Cutthroat
Run: Westslope

Stock: KING LK (PEND)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	35,000	0
Received		
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	05/2024	05/2024	GOLDENDALE HATCHERY	20,000		0	EGGS EYED
Shipped	05/2024	05/2024	MOSSYROCK HATCHERY	15,000		0	EGGS EYED

Estimated Release Data

	_	_					_	_
Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Program implementation is dependent on legal authority and funding.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2024

Species: Rainbow

Run: NA

Stock: TROUT LODGE
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	60,000	0
Planted	50,000	10,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2024	06/2024	TROUT LODGE COMMERCIAL	60,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	50,000	5.0	10,000	JUVENILE	SPOKANE CO LAKES	AD	

Memo: Program implementation is dependent on legal authority and funding. AVISTA mitigation.

SPOKANE TRIBAL HATCHERY

SPOKANE TRIBE

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: TROUT LODGE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	450,000	30,000
Received		
Planted	40,000	40,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2023	10/2023	LK ROOSEVELT NP (COL	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2023	06/2023	40,000	1.0	40,000	JUVENILE	SPOKANE R 54.0002		

Memo:

SPOKANE TRIBAL HATCHERY

SPOKANE TRIBE

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: TROUT LODGE
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	450,000	30,000
Received		
Planted	40,000	40,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2024	10/2024	LK ROOSEVELT NP (COL	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2024	06/2024	40,000	1.0	40,000	JUVENILE	SPOKANE R 54.0002		

Memo:

STACEY SELCHO COOP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	4,300	0
Planted	3,550	14

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	SPOKANE HATCHERY	4,300		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	1,450	250.0	6	JUVENILE	BEAR LK (SPOK)		
04/2024	04/2024	75	250.0	0	JUVENILE	CLEAR LK (SPOK)		
04/2024	04/2024	75	250.0	0	JUVENILE	COFFEEPOT LK (LINC)		
04/2024	04/2024	925	250.0	4	JUVENILE	LIBERTY LK (SPOK) (57)		
04/2024	04/2024	1,025	250.0	4	JUVENILE	MEDICAL LK (SPOK)		

Memo: Program implementation is dependent on legal authority and funding. Releases grouped by site.

TRI STATE STEELHEADER

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Chinook
Run: Spring

Stock: WIND R 29.0023

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	3,300	0
Planted	3,300	72

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2023	10/2023	LYONS FERRY HATCHERY	3,300		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	600	45.0	13	JUVENILE	GARRISON CR 32.1448		
04/2024	04/2024	1,500	45.0	33	JUVENILE	MILL CR 32.1436		
04/2024	04/2024	1,050	45.0	23	JUVENILE	TOUCHET R 32.0097		
04/2024	04/2024	150	45.0	3	JUVENILE	YELLOWHAWK CR32.1449		

Memo: Program implementation is dependent on legal authority and funding.

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Chinook

Run: Spring

Stock: TUCANNON R 35.0009

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	226,000	9,040
Planted	225,000	18,750

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2023	11/2023	LYONS FERRY HATCHERY	226,000	25.0	9,040	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	45,000	12.0	3,750	JUVENILE	TUCANNON R 35.0009	PT	✓
04/2024	04/2024	180,000	12.0	15,000	JUVENILE	TUCANNON R 35.0009		✓

Memo: Program implementation is dependent on legal authority and funding. 15k pit tagged fish will be released via barge into the Columbia River between river miles 139 and 141.

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	97,358	43,314

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

Memo: Program implementation is dependent on legal authority and funding.

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received		
Planted	97,358	43,314
	Shipping Received	Egg Take Shipping Received

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
02/2024	05/2024	800	0.7	1,194	JUVENILE	ASOTIN CO LAKES		
02/2024	05/2024	1,800	0.7	2,687	JUVENILE	COLUMBIA CO LAKES		
02/2024	05/2024	300	0.7	448	JUVENILE	FRANKLIN CO LAKES		
02/2024	05/2024	850	0.7	1,269	JUVENILE	WALLA WALLA CO LAKES		
02/2024	05/2024	250	0.7	373	JUVENILE	WHITMAN CO LAKES		
04/2024	06/2024	20,400	2.5	8,160	JUVENILE	ASOTIN CO LAKES		
04/2024	06/2024	40,460	2.5	16,184	JUVENILE	COLUMBIA CO LAKES		
04/2024	06/2024	6,800	2.5	2,720	JUVENILE	FRANKLIN CO LAKES		
04/2024	06/2024	19,380	2.5	7,752	JUVENILE	WALLA WALLA CO LAKES		
04/2024	06/2024	6,318	2.5	2,527	JUVENILE	WHITMAN CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Chinook

Run: Spring

Stock: TUCANNON R 35.0009

Brood Origin: MIXED

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	226,000	9,040
Planted	225,000	18,750

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2024	11/2024	LYONS FERRY HATCHERY	226,000	25.0	9,040	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	180,000	12.0	15,000	JUVENILE	TUCANNON R 35.0009		✓
04/2025	04/2025	45,000	12.0	3,750	JUVENILE	TUCANNON R 35.0009	PT	✓

Memo: Program implementation is dependent on legal authority and funding. 15k pit tagged fish will be released via barge into the Columbia River between river miles 139 and 141.

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	1,850	0
Received	130,000	0
Planted	97,358	43,314

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	01/2024	SPOKANE HATCHERY	130,000		0	EGGS EYED
Shipped	01/2024	01/2024	ASOTIN CONSERVATION DIST	1,600		0	EGGS EYED
Shipped	01/2024	01/2024	LEONARD M JENNINGS E	250		0	EGGS EYED

Memo: Program implementation is dependent on legal authority and funding.

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	1,850	0
Received	130,000	0
Planted	97,358	43,314

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
02/2025	05/2025	800	0.7	1,194	JUVENILE	ASOTIN CO LAKES		
02/2025	05/2025	1,800	0.7	2,687	JUVENILE	COLUMBIA CO LAKES		
02/2025	05/2025	300	0.7	448	JUVENILE	FRANKLIN CO LAKES		
02/2025	05/2025	850	0.7	1,269	JUVENILE	WALLA WALLA CO LAKES		
02/2025	05/2025	250	0.7	373	JUVENILE	WHITMAN CO LAKES		
04/2025	06/2025	20,400	2.5	8,160	JUVENILE	ASOTIN CO LAKES		
04/2025	06/2025	40,460	2.5	16,184	JUVENILE	COLUMBIA CO LAKES		
04/2025	06/2025	6,800	2.5	2,720	JUVENILE	FRANKLIN CO LAKES		
04/2025	06/2025	19,380	2.5	7,752	JUVENILE	WALLA WALLA CO LAKES		
04/2025	06/2025	6,318	2.5	2,527	JUVENILE	WHITMAN CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

UPPER COLUMBIA UNITED TRIBES (SPOK)

INTERAGENCY PROJECTS

EASTERN WASHINGTON

Brood Year: 2022

Species: Chinook
Run: Summer

Stock: WELLS HATCHERY

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

		Total #	Total Pounds
Egg	Take		
Shij	oping		
Rec	eived	165,000	5,500
Plai	nted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2024	11/2024	WELLS HATCHERY	165,000	30.0	5,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Fish released from net pens.

UPPER COLUMBIA UNITED TRIBES (SPOK)

INTERAGENCY PROJECTS

EASTERN WASHINGTON

Brood Year: 2023

Species: Chinook
Run: Summer

Stock: WELLS HATCHERY

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Received	165,000	5,500
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	11/2025	WELLS HATCHERY	165,000	30.0	5,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Fish released from net pens.

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2022

Species: Brown Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

Total #	Total Pounds
24,500	1,225
24,000	4,800
	24,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2023	10/2023	SPOKANE HATCHERY	24,500	20.0	1,225	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	24,000	5.0	4,800	JUVENILE	WAITTS LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding.

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2022

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	30,000	1,500
Planted	29,500	5,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2023	10/2023	SPOKANE HATCHERY	30,000	20.0	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	29,500	5.0	5,900	JUVENILE	WAITTS LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding.

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Brown Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

Total #	Total Pounds
24,500	1,225
24,000	4,800
	24,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2024	10/2024	SPOKANE HATCHERY	24,500	20.0	1,225	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	24,000	5.0	4,800	JUVENILE	WAITTS LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding.

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	30,000	1,500
Planted	29,500	5,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2024	10/2024	SPOKANE HATCHERY	30,000	20.0	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	29,500	5.0	5,900	JUVENILE	WAITTS LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding.

WEST VALLEY HS(SPOKA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Eastern Brook Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

Pounds

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	FORD HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2024	06/2024	475	75.0	6	JUVENILE	NEWMAN LK (SPOK)		

Memo: Program implementation is dependent on legal authority and funding.

WEST VALLEY HS(SPOKA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Kokanee

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	500	0
Planted	475	5

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2024	01/2024	SPOKANE HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2024	03/2024	475	100.0	5	JUVENILE	DEER SPRINGS LK (LINC)		

Memo: Program implementation is dependent on legal authority and funding.

WEST VALLEY HS(SPOKA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Rainbow

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	500	0
Planted	475	5

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	SPOKANE HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	475	100.0	5	JUVENILE	LIBERTY LK (SPOK) (57)		

Memo: Program implementation is dependent on legal authority and funding.

WEST VALLEY HS(SPOKA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2023

Species: Tiger Trout

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Received	500	0
Planted	475	5

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2023	11/2023	FORD HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	475	100.0	5	JUVENILE	FISH LK (SPOK)		

Memo: Program implementation is dependent on legal authority and funding.